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ACO POS BIT |QUANT| COMPRIMENTO
UNIT | TOTAL
mm cm cm
v201
50A il 10 3 1145 3435
50A 2 12.5 2 811 1622
50A 3 10 3 835 2505
50A 4 10 3 1055 3165
60A 5 5 90 131 11790
60A 6 5 8 145 1160
60A 7 5 4 177 708
v202
50A il 10 3 1140 3420
50A 2 12.5 2 812 1624
50A 3 10 3 835 2505
50A 4 10 3 1055 3165
60A 5 5 60 131 7860
60A 6 5 38 145 5510
60A 7 5 4 1037 4148
v203
50A 1 10 3 1015 3045
50A 2 10 3 975 2925
60A 3 5 49 131 6419
v204
50A 1 10 3 1015 3045
50A 2 10 3 975 2925
60A 3 5 41 101 4141
v205
50A 1 16 3 1033 3099
50A 2 10 2 975 1950
50A 3 10 1 525 525
60A 4 5 41 101 4141
v206
50A 1 16 2 1065 2130
50A 2 16 2 1015 2030
60A 3 5 52 131 6812
60A 4 5 4 970 3880
RESUMO DE ACO
ACO BIT COMPR PESO
mm m _AQ.—..
60A 5 566 87
50A 10 326 201
50A 12.5 32 31
50A 16 73 115
Peso Total 60A = 87 kgf
347 kgf
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